(3)

NDF:}.L It{r;:::la?urnilics la.dislance of 3 kms towards
) _ain - l. his left and walks for 2 kms.
! g rns eft and walks 3 kms. At this point
e tu.rns to his left and walks for 3 kms. How man
kms is he from the starting point? ’
(A) 5
(B) 2
© 1
GBS

—

2. Mahatma Gandhi was the editor of
(A) Young India
(B) Seminar
(C) Modern Review
(D) National Herald

3. Which of the following instruments
measures high temperature?

(A) Pyrometer
(B) Thermostat
(C) Pyrheliometer
(D) Pyknometer

4. 10% discount and then 20% disceunt in
succession is equivalent to total discountiof

(A) 30%
(B) 15% /
(C) 24% /O
(D) 28% \
o
5. Which one@bllowing is the hottest
planet? «

(A) Yent
(B) Saturt
(C) Mercury
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1. e Casiuer 3 B & Fifirs 93 2 B
20 | SR wra e gra 3 @63 | s e
Jife catta @< 3 Bl 206 | oF o A @ A
sl (AT O B g s e

(A) 5

B) 2

(C) 1

£0) 3

2. W SR A
A) BRRE[GH-S
(B) F=IR-97
(C) ol Ffee-an
(D) FAEE R4

3. ToPerid o Om SieE@l A T
(AYNSRETRGE

() PREFARIREE

(D) PeifoE

4. 2997 10% '8 20% RS (IHT BAF @ Q0T
N ©f 2 —
(A) 30%
B) 15%
(C) 24%

/(,D)’ 28%

5. Twa @b T o2
(A) &F
(B) i

AE) H
(D) o

(D) Mars

[Please Turn Over]

I e s o
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6. The birthday of which of the following \}/ﬁ{ﬁﬁ@@mmwﬁﬂwm T
leaders is celebrated as ‘Teachers’ Day’ in India? | firzsy RET TR A 2 ?
(A) Dr. C. Rajagopalachari (A) ©. B AR
(B) Dr. S. Radhakrishnan M o, AL
(C) Dr. Rajendra Prasad (©) . A 2P

(D) Lala Lajpat Rai
) o (D) &l AGAS T

O

7. Find out the questioned number: 45 B A el o1 ¢
6= 5u: 8% 2 A G B P
(A) 2 ' | (A) CD)
(B (B)x
@) 12 _ (
(D) 4

725% @ﬁzzﬂ,m 4, B G T I Gﬁ‘-{@?
@) 20%

larger than C, ien A is Wha.t _j
than B?




04x1.5 _
0z

(A) 3
}yo.s/
©) 02

D) 2

10.

11. The term ‘Brown Air’ is used for
(A) Photochemical smog.
~ (B) Industrial smog.
(C) Sulphurous smog.
(D) Acid fumes.

12. Find the missing number in the series given
below: :

30 390, 784, 786
(_A)- 328 '
(®) 128

FN i

RB/SI/WB(Prel)/2025

290, 784,786
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15, Commercially, Sodium bicarbonate is ¢
known as | oA, ot ==
(A) Washing Soda
_B) Bleaching Powder
(C) Soda Ash : |
. (C) @irels™
(D) Baking Soda
: 5 (D) <R Gl

16. Who was the First Chief Election
Commissioner of India?
(A) Sukumar Sen
(B) M. S. Gill
(C) Mirs. V. S. Rama Devi
(D) T.N. Seshan




w1

19. The respective land masses of India and
(A) Bass strait
(B) Malacca strait
(C) Palk strait
(D) Bering strait

20. Father wt’:iﬂ?’é‘ﬁ-&ws'--mo:ezthan;hg:son*s
age. Ten years hence the father’s age will become
{hree times the son’s age that time. What is son’s
present age in years?

(A) 8

® 5

(C) Can not be determin
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23. Whom of the following posts there is no
_vaisiou in the Constitution of India for the
impeachment?

(A) The Chief Justice of a High Court
(B) The Governor

(C) The Vice-President

(D) The Chief Justice of India

24. 48% of a number is 1248. What is the
number?

(A) 2850
(B) 2450
(C) 2600
(D) 2700

. The volume of which of the following
matenals decreases when it is heated from 0°C to

4°C?

(A) Air
(B) Water
(C] Me.rcury

23. s WRYW BT @F AT o
BPHETEY R 3

(A) REEIGT 2y RoEeifs
(B) eyl
(C) Tot-agAf®
jo sracen Ay Rorefs
. I SRR 48% | %1 ¥9 2
(A) 2850 & i
By 2450 Q) wia
(C) 2600 Vv

N
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28. The red blood cells are formed in the :
(A) Howt |! 3R cj\i/@amw sfye =0
(B) Lymph nodes ) A
(C) Bone marrow ; DR GAELS
(D) Liver (C) wifgTeE
(D) IFC®

29. The profit after selling a pair of trousers for

Rs.863isthe same as the loss incurred after selling

 the same pair of trousers for Rs. 631. What is the
cost price of the pair of trousers? (in rupees)

(A) 750 -
(B) Can not be determined _
(C) 800 P"@\ |

) 747
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32. Which of the following is not a Union
Territory of India?
(A) Dadra & Nagar Haveli and Daman
& Diu
(B) Lakshadweep
(C) Puducherry
(D) Nagaland

33. How many minutes for each degree of

longitude does the local time of any place vary

from the Greenwich time?
(A) 2
(B) 6
(€) 8
(D) 4

34. The Chairman of Rajya Sabha is
(A) nominated by the President.
(B) elected by Parliament and the
legislatures of the states jointly.
(C) elected by the members of Rajya
Sabha.
(D) elected by the two house;
Parliament.

32, G @0 SIrod G @FEHlitie o

CE
(A) W @ 7517 2lCefE G W @ 7
#wrael
(©) “HfE
(D) DiRIG1E
33, =fc ol wfemgeid oy e

’ O
(A) 2
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7. Which one set of letters whén sequentially
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placed at the gaps in the given letter series shall 37, @F el o NG TF RRIlCES
complete it? ' I AR P O ol A
 ab —— baa — — ab —— ab — — baa —— db ——
(A) baabb (A) baabb )
(B) aabaa (B) aabaa
(C) aaaaa (C) aaaaa
(D) aabab D) aabab
38. .Which country gifted Statue of Libérty to 38. @ ™ i’ TAZ
America? frre?
(A) France T
(B) Poland S Q
(C) Ukraine (B) T
(D) Japan ‘@
D
39, The product of two consecutive pﬁme : G AR B 3127 | 3259
sumbers is 3127. What is the greater number? G0 : :
(A) 61 i (A) 61
®) 59 ®) 59
(©) 53 . ‘. 25 (©) 53
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42. A tap canempty a water tank in 30 minutes. 42, G0 F (HICA GEAILTCE 30 Rt "‘ITﬁW‘@'!
A second tap can empty itin 45 minutes. If both the Bor 0 €% TETHiaiE 45 A A1 w0 |1 Tyl
taps operate simultaneously, how much time is P G Gl 2, Ot F© e weaaf A
needed to empty the tank? (in minutes)

B
(A) 36 /‘4
&= - | (B) 14
g :z ©) 18

(D) 15 O

43. Which of the following awards is given by
UNESCO to those who put their efforts to
popularise use of science in life?

(A) Magsaysay Award

: (B) Kalinga Award

(C) Kalidas Samman
. (D) Booker Prize

44. Which one of the following is n@t

multi-user operating system? qe 3
(A) UNIX ~ (A) UNIX
(B) MS-DOS (B) Ms-DOS

(C) Windows-2000

e A / | (C) Windows-2000
Osneg % S | )) Windows-XP
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47. A can complete a piece of work in 12 days. A7, A G e 12 it e A0S A 1A 98
4 and B together can complete the same piece of | B R FE 40 8 et F7rie T \wﬁm- B <@ G

work in 8 days. In how many days can B alone 16 Rl TS AR Y

complete the same piece of work?
(A) 24 24
(B) 28 (B) 28
(€) 18 (C) 18
(D) 15 (D) 15

48. Which of the following Constitutional
Amendments of India lowered the voting age from
21 yearsto 18 years forthe Lok Sabhaand Assembly
Elections of India?

(A) 6l1st
(B) 42nd
(C) 34th
(D) 24th

49. Three of the following four roups ® Jetters
are alike in some way while one is different. Finé
out which is different:
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51. In a code language PARENT is written as 51. A eT SRR PARENT- BDFGIK

BDFGJK and CHILDREN is written as 3% CHILDREN-& MOXQUFGJ (&<l 3e
MOXQUFGI, how is REPRINT written in the

REPRINT-GF ! (5131 213 ?

e (A) FGBFXGD
(A) FGBFXGD _ RN

UXTK - (B) FGBUXIJK

_(](3:)' :‘ggFXJK - (C) FGBFXJK

- ) (D) BGBFXJK

(D) BGBFXJK
52. Fordetermination of the age of which of the 52. N7 @Aa 339 Fdfadl Fa0e idA-ceie

following is ‘Carbon-dating” method used? : e i

(A) Fossils
(B) Trees
(C) Mountains
(D) Rocks
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55. While the group photo of
a famil
ken, the father was found to be sitting to t%:;’:;

of the son and right to the grandfather. Mother w
. as

sittiné%f to th;v;ighl of her daughter but left to
gran ather. o was occupying the central place?
(A) Son i
(B) Father
(C) Mother

(D) Grandfather

8

3 w8 G
56. 3 of 9 of 7 of 665 =7

(A) 268
B) 326
(C) 308
D) 304

57. Nalanda University was associated with
(A) Ashoka

B) Harshavardhana

© Kanishka

(D) Chandragupta vVikramaditya

RB/SI/W B(Prel)/2025

55. qﬁv@m@ﬂﬁﬂ(ﬁ@@mm Al
o, forel v{mﬂiﬁ@@aﬁﬁ?@@mﬁ'@ﬁw
it | S O m@mﬁmﬁr\zﬁw e
AT | TR (01 S ¢

(A) 74

(B) el

(C) M

(D) T

s Sien 8 9
56. 665 &< ,?-tﬂ?i 9 ﬂ@.
(A) 268 < )

(B) 326

(C

&
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: 60. A train moving at a speed of 36 km/hr.
crosses a standing man in 10 seconds. It will cross
a platform of 55 meters long in seconds.

1
@ 5L
B) 7

©) 151

2
(D) 6

61. If the numerator of a fraction is increased
by 200% and the denominator of the fraction is
increased by 120%, the resultant fraction is TR

I ———TTT

(16)

60. <= G 36 /D1 T ST AP e
Wmmwﬁmmn@aﬁﬁﬁmw
qal twie ofews F90s TE "
CTES |

1
@A) 55
B) 7

1
© 155
(D) 6

QO

! @%ﬁawzm%qﬁmﬁ

% 4t AT T, O g T

What is the original fraction? 23
(A) 4 15
® fu
e © 2
@2 ¥k

)11 .& ©) =
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l

63. Who coined the name ‘Pakistan’?
(A) Mohammad Ali Jinnah
(B) Liaquat Ali Khan
(C) Chowdhury Rehmat Ali
(D) Fazlul Haque

64. The headquarters of United Nations is at
(A) Geneva
(B) New York
(C) Washington DC
(D) Paris

{4

65. Which of the following was the official

RB/SI/W. B(Prel)/2025

63. N‘W’W@mﬂmﬁﬁﬂ?
wiife femt

(B) forars @fe =i
(©) R 7S i
(D) WoEE &5

4. United Nations-44 f@ﬁ("

() @l Q
®) FeE
G2

court language during Akbar’s reign?

(A) Arabic
(B) Urdu

(C) Turki
(D) Persian
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68. Select the related word from the given
- alternatives: .
SAFE : SECURE : : PROTECT : ?
(A) GUARD
(B) SURE
(C) CONSERVE
(D) LOCK

69. If Suman celebrated his victory day on
Tuesday, 5th January, 1965, when willhe celebrate
his next victory on the same day?

(A) Sth January, 1970
(B) 5th January, 1972
(C) 5th January, 1973
(D) 5th January, 1971

70. Study the two different positions of a cube
given below with dots from 1 to 6 marked on its
faces. Find out how many dots are there on theface
opposite to that containing 4 dots.

(18)

68. &% Remefer cars srosififs w1y are e
SAFE : SECURE : : PROTECT : 7
(A) GUARD
(B) SURE
©) CONSERVE
(D) Lock

T, 1972
G, 1973
52 GlegAIfe, 1971

Qnﬂaﬁwiﬁfwmwm

= Al e Alee wwibd e o 1

6 T oG oz oreal otz | 476 6 (edl o Reids

wﬁvﬁwﬁ‘ﬁwm
(A) 1 '
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73, Which comet appears
(A) Halley’s T v yem?
(B) Donate’s
(C) Alpha Centauri
(D) Holme’s

74. Ramen drove from home to a neighbouring
town at the speed of 50 km/hr. and on his return
y, he drove at the speed of 45 km/hr. and

journe
also took an hour longer to reach home. What

distance did he cover in each way? (in km.)
(A) 450

(B) 500
(C) Cannotbe determined

(D) 225

75. Grammy Award is associated with
(A) Music
(B) Science
(C) Sports

|
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73, Gﬂﬂmﬂﬁs?ﬁﬂiﬂma@ﬂmiﬂ?
(A) =
(B) (EIAG-A7

Wmﬁﬂﬁ

(D) @A

) *Zrd
5 ffal /295
ool

a2 ?

74, FoW o A A
50 f&f /=t caeet T @R
e E I ICENE RIEREE
SfSTRTE G1 TS

(A) 450
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78. Pomology deals with
(A) study of fruits.
(B) study of animal behavmurs
(C) study of fossils.
(D) study of teeth.

79. During the reign of whom of the following
Ibn Batutah visited India?

(A) Alauddin Khilji

(B) Sher Shah Suri

(C) Muhammad bin Tughlug
(D) Ghiyasuddin Tughluq

80. In the context of their formation, which of
the following typcs ef rock is the most ancient?
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¢3. Inan examinationitisrequiredto :
(e aggregate ‘maﬂ_:s to pass. A stugent g;i
368 marks al.:ld is declared fail by 8% marks What
are the maximum aggregate marks a student can

get?

(A) 1275
(B) 1150
(C) Cannotbe determined
(D) 1350

84. Wh’ichofthefollowing;is_-the.wqud"solde'st
Capital City?
(A) Canberra
(B) Oslo
(C) Accra
(D) Damascus

85. Which day is celebrated as “World Health

Day’?
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88. Who of the following was the UN Secretary-
General at the time of starting of ‘Operation
Sindoor’?

(A) Trygve Lie

(B) U Thant

(C) Antonio Guterres
(D) Dag Hammarskjoeld

SIS 1
. If the fractions = TOI 3 and ﬁ
arranged in ascending order of their values, which

one will be the second?

@ B

9
B 17

(22)

88. weli Fig ww zemd s Rakie
@ A& UN GraoifE-comicas e 2

(A) GiRe[® R

(B) 2T 4%

(C) SIHHS S
(D) G QNG

519 )1
89. If 0 4 17-@%%
, O@ & el =z ?
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92. Five girls M, N, O,Pand Q

are
arow. P is on the right of Q. N is on tl'slraa:.:adf:cnogfm
¢ is on the right of M. P is on the left of C?

bu

Wwho is standing on the extreme left?
(A) Q I
(B) P 0 & '\\
© O NOX
D) M V

s 2 G‘AS’}\L
po°

93, In1939, Subhash Chandra Bose was elected
a¢ President of the Congress Party defeating
(A) Maulana Abul Kalam Azad
(B) Jawaharlal Nehru
(C) V.B. Pattel
(D) Pa;tabhi Sitharamayya

ompound Interest
sum of money for
hat is the sum of

94. Tf difference between C
and Simple Interest on & certain

RB/SI/WB(Prel)/2025

{?g;_gmﬁmﬁm
Qlaz A e
i e |

92, 5 & WEE M,
ViR et | P, Q-aa e IN,
M-@7 G SiE | P, 04
s Afrces ML it ¢
(A) Q
(B) P

(0]
(D) M

93, 1939 e, T

2 years @ 5% p-a. is Rs. 122
money? (in Tup

ees) 5
(A) 48 soogi E 5 050
(B) 46, 8 /
(C) 48, 000 ) E

se Turn Overl
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97. If ‘4’ stands for multiplication, ‘=’ stands
for division, ‘X’ stands for addition, ‘< stands for
subtraction, then which one of the following
equation is correct?

(A) 1245-4x5+4=16
(B) 12+5-4x5+4=22
(€) 12x5+4-5+4=20
D) 12+5+4-5%x4=18

98. Which country is known as ‘Land of
Thousand Islands’?
(A) Indonesia
(B) Russia
(C) Netherlands
(D) Malaysia

99, Who was behind publishing the First

Newspaper in India? -
(A) Deen Bandhu Mitra
) James Augustus Hicky

(24)

97. i+ T, = S, W AL, W
R, o2 Awa @i a4’ Hfowe
(A) 12+5-4x5+4=16
(B) 12+5-4x5+4=22
1 ) A2 fedd s hmn ST
(D) 12+5+4-5x4=18




